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The mother as well as the two daughters mysteriously | Answer option
missing from the house (a,b,c or d)
a) was b) were ¢) has d) is a
Choose the correct sentence from the following: Answer
option
(a,b,c ord)
a) Him and I|b)Heandme |c) He and 1|d) Me and|c
went to the store. | went to the | went to the | he went to
store. store. the store.
Choose the correct indirect speech for the sentence- Answer option
Tani asked the interviewer, “sir could you please repeat the | (a,b,c or d)
question?”
A. Tani requested the interviewer if he could please repeat the
question.
B. Tani requested the interviewer to please repeat the question.
C. Tani requested the interviewer to repeat the question.
D. Tani requested the interviewer if he could repeat the question.
a) All optionsare | b) A& Bare |c) Only C is |[d)OnlyDis | c
correct correct correct correct
Given below is assertion (A) and justification (B) Answer option
(a,b,c ord)
A: Tribals were identified as “primitive’ by earlier scholars.
B: Tribals were not at par with other human, as they had simple
culture.
a) BothAand B|b) A is|c) Both Aand|d) Aand B|b
are incorrect correct but B | B are correct | are correct
isincorrect | but Bisnotthe |and B is
correct correct
justification of | justification
A of A
Match the synonyms Answer option
(a,b,c or d)
A. Exquisite 1. Stubborn
B. Vibrant ii. Economical
C. Frugal 1ii. Beautiful
D. Tenacious iv. Lively
a) A (iii), B (iv), | b) A (iv), B |c) A (ii), B (i), |d) A (i), B |a
C (i), D (4) (iii), C (i), D | C (iii), D (iv) | (iv), C (iii),
(1) D (ii)
Who was the first Governor of Arunachal Pradesh? Answer
a) B.N. Singh | b) M. Dighe |c)M.Prasad |d)A.Dave |a
When was kabaddi first introduced in the Asian games? Answer
a) 1982 \ b) 1951 [ ¢) 1990 | d) 1988 c
State whether the following statements on Arunachal Pradesh are
True or False:
(A) It was made a state in 1987 Answer

(B) Bhismaknagar fort in Roing was built by the Ahom kings
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(C) There is one tiger reserves in the state
(D) Clouded leopard is an endangered species.

a) A, B, and C b)CandD |c) Only A is|d)Aand D |d
are true are true | true are true
9 | Match the following:
(A) Ravi Shankar (1) Flute Answer
(B) Zakir Hussain (i1) Shehnai
(C) Hariprasad Chaurasia (ii1) Tabla
(D) Bismillah Khan (iv) Sitar
a) (A)-(1), (B)-|b) (A)-(iv),| o)  (A)-(ii), | d) (A)-(iv), |d
(i),  (O)-GiD), | B)-(1), (C)-| B)-Gi), (C)- | (B)-(iii),
(D)-(iv) (iii), (D)-(i1) | (iv), (D)-(i) E?))-(i), (D)-
il
10 | Who won the gold medal women’s hockey in the Hangzhou Asian | Answer
games?
a) China ‘ b) Japan ‘ c¢) South Korea ‘ d) India a
11 | In certain code, ‘PSXM’ is written as ‘QRYL’, How is ‘BFTV’
written in that code?
a) AESU |b) CEUU | ¢) DHVX | d) CSTV b
12 | What are the next two terms in the series? 7, 10, 8, 11,9, 12, ...
a) 12 | b) 13 | ¢)7 | d) 10 d
13 | How many times do the hands of a clock coincide in a day?
a) 24 [ b) 12 [ ¢) 20 | d)22 d
14 | A pen costs Rs. ¢ and a pencil costs Rs. d. Write down an | Answer
expression for the cost of 2 pens and 2 pencils.
a) c+d | b) 2c+d | ¢) 2c+2d | d) 2c-2d c
15 | The classrooms in the college are identified by the letters A to H. | Answer
A researcher records the number of classes held in each room.
Which is the best way to represent the data?
a) Histogram b) | ¢) Bar chart d) Box plot | ¢
Scatterplot
16 | Assertion (A): The Panchsheel Pact was signed in 1954 between
India and China. Answer
Justification (J): Border dispute arose due to divergent claims on
land, fresh water, mineral and energy resources.
a) Both (A) and | b) Both (A)|c) (A) is|d)Only (A)|d
(J) are correct, | and (J) are | incorrect, but | is correct
and (J) is the | correct, but | (J) is correct
correct (J) is not the
justification for | correct
(A) justification
for (A)
17 | Match the following festivals:
Answer

(A) Wangala (1) Assam

(B) Hornbill (i1) Meghalaya




(C) Baisagu (i11) Arunachal Pradesh
(D) Nyokum
(iv) Nagaland
a) (Ar(D), (B)-]b)  (Ar(), | ©) (A, B)- | d) (A)-GiD), | a
(iv), (C)-(1), (D)- | (B)-(iii), (O)- | (1),  (O)-(iv), | (B)-(ii),
(iii) (i), (D)-(v) | (D)-(ii) (C)-(i), (D)-
(iv)
18 | What is the mean of 30, 45, 60, 75, 80?
Answer
a) 45 | b) 51 | ¢) 58 | d) 64 c
19 | How much time will it take for an amount of Rs. 650 to yield Rs.
81 as interest at 5 % per annum of simple interest?
a) 2.5 years ‘ b) 3.5 years ‘ c) 4 years ‘ d) 5 years a
20 | Pointing towards a woman, Rahul said, “I am the only son of her
father’s one of the sons.” How the woman is related to Rahul?
a) Nephew b) Aunt c¢) Either sister | d) Niece b
or Aunt
21 | Which among the following best describes scarcity in economics? | Answer option
(a,b,c or d)
a) Low demand | b) High ¢) Goods d) Low C
for good demand and | available are demand as
less supply not free people
of good don’t want
to consume
it
22 | Read the following statements — one labelled as assertion (A) and | Answer option
other as reason (R): (a,b,cord)
A: E-commerce is the electronic purchase or sale of goods
through online stores or the internet.
R: E-commerce makes use of technology like supply chain
management, mobile commerce, internet marketing, etc.
Find the correct codes from the given below:
a) Both (A)and | b) Both(A) |[c) (A)istrue, | d) Both A
(R) are true, and (R) but (R) is (A) and
(R) 1s the are true false (R) are
correct but (R) is false
explanation not the
of (A) correct
explanati
on of (A)
23 | Find the following correct pairs: Answer option
A Hawkins Simon conditions | i. Non-linear programming (a,b,c ord)
B Simplex methods i1 Theory of games
C Kuhn Tucker condition 111 Linear programming
D Saddle point iv input output analysis
a) A-iv, B-iii, C- | b) A-iii, B-ii, | ¢) A-iv, B-iii, | d) A-i, B-iv, | A
i, D-ii C-iv, D-1i C-ii, D-i C-ii, D-iii
24 | Which one of the following statement is the most appropriate for | Answer option

Multi-cultural education?

(a,b,c ord)




a) Educational b) c¢) Creating d) B
inequality for Educational | special Showcasing
children from equity for sections in dances/musi
different children school for cof
cultures within a | from children different
classroom. different belonging to cultures on
cultures different specific
within a cultures. occasion
classroom. like annual
day of
school.
25 | Read the following statements — one labelled as assertion (A) and | Answer option
other as reason (R): (a,b,c ord)
A: The development of higher education in India is a
responsibility of central govt.
R: The higher education system of India is supported by each &
every state government too.
Find the correct codes from the given below:
a) Both (A)and | b) Both (A) |c) (A)is d) Both A
(R) are and (R) correct, but (A) and
correct, but are (R) is (R) are
(R) is not wrong. wrong. correct
correct and (R)
explanation isa
of (A). correct
explanat
ion of
(A).
26 | Find the following correct pairs: Answer option
A Flash card 1 Innovation (a,b,c ord)
B Case study i1 Teaching technique
C Way of presentation 111 Method
D) Perceiving a new idea | iv Teaching aid
a) A-iv, B-ii, C- | b) A-iv, B-iii, | ¢) A-iii, B-iv, | d) A-i, B-iv, | B
iii, D-i C-ii, D-1 C-i, D-ii C-ii, D-iii
27 | Selective presentation of facts and quotes in support of certain | Answer option
opinions is referred to as (a,b,c ord)
a) Propaganda | b) Selective | c) Cherry d) Time C
publicity picking craft
28 | Under the working Journalists Act of 1958, the Central Answer option
Government, for working journalists, can constitute a (a,b,c or d)
a) Wage b) Labour |c) Select d) Wage D
Committee Commiss Panel board
ion
29 | The period when commercials are to be broadcast is identified as: | Answer option
(a,b,c or d)
a) Break time |b) Time C) Primetime | d) Time A
channel message
30 | Read the following statements — one labelled as assertion (A) and | Answer option

other as reason (R):

(a,b,c or d)




A: The Rig-Veda is the oldest collection of hymns and other
sacred texts known as Vedas.

R: It contains most of the information about the religious and
social life of the early Vedic period.

Find the correct codes from the given below:

a) AandR b) A is c) AandR d Ais| A
are true, true are true false
but (R) is but R and R is but
not the is the R is
explanati false correct true
on of A explana
tion of
A
31 | Find the following correct pairs: Answer option
A. i. 22"Tirthankara of (a,b,c or d)
Rishabhdev | Jain
B. ii. 2"Tirthankara of
Aristhenemi | Jain
C. Ajitnath iii. 1¥Tirthankara of
Jain
D. iv. 23"Tirthankara
Parshwnath | of Jain
a) A-ii, B-iv, C-i, | b) A-iii, B-ii, | ¢) A-iii, B-i, C- | d) A-i, B-iv, | C
D-iii C-iv, D-ii ii, D-iv C-ii, D-iii
32 | Which of the following statements are true for Buddhism? Answer option
A: The world is full of sorrow. (a,b,c ord)
B: People suffer on account of desire.
C: The Dhammapada is a collection of sayings of the Buddha in
verse form.
D: The Jataka tales deal with the previous births of Gautama
Buddha in both human and animal forms.
a) OnlyAand |b) OnlyB c) OnlyCand | d) Allof D
C and D D the
above
33 | Choose the correct sentence in Passive/ Active voice. Answer option
Who gave you permission to enter?
a)By whom you | b) By whom | ¢) d) By whom | ¢
were given | was you | By whom were | given  you
permission  to | given you given | permission
enter? permission permission to | to enter?
to enter? enter?
34 | Match correctly the Language Families in List -1 with Languages | Answer option

in List-1I:

LISTI LIST II
A. Indo Aryan 1. Khampti
B. Tai-Kadai ii. Rathwa
C. Austro-Asiatic iii. Gond
D. Dravidian iv. Shompen




Code:

a) b) c) d) c
ABCD ABCD |ABCD ABCD
i iv v il i v iil v il 1 iii
35 | Which statement is True or False for the idiomatic phrase given | Answer option
below.
“A critic’s work is to read between the lines.”
i To comprehend the meaning.
ii. To appreciate inner beauty.
iii. To understand the inner meaning.
\"2 To read carefully.
a) 1, i1, iv are | b)iiiiiiand | c¢) 1,11 and iv | d) i and iv
false but 1iii is | iv are all true | are true butiiis | are true but | a
true false i1 and iii are
false.
36 Answer option
A: Assertion: Majority of tribal speech communities do not have
scripts of their own.
B: Justification: Due to absence of scripts amongst tribals, it is
right to classify their mother tongues as dialects and not
languages.
CODES b
a)Both A and B | b) A is true | c)Both Aand B | d) A is false
are True but B is false | are false but B s
true.
37 | Choose one word that can be substituted for the given words/ | Answer option
sentence.
A place of permanent residence.
a) Abode b) Dormitory | ¢) Domicile d) b
Apartment
38 | Choose one word that can be substituted for the given words/ | Answer option
sentence.
“Gradually advanced.”
a) Evoluted b) Evolved c) Evaded d) b
Advantaged
39 | Match correctly the Languages in List -1 with scripts adopted in | Answer option
List-II:
LIST I LIST II
A. Khasi 1. OIChiki Script
B. Betta Kurumba ii. Devanagri script
C. Santhali iii. Roman Script
D. Bodo iv. Tamil Script
CODES-
a) b) c) d)
ABCD ABCD ABCD ABCD |c
il i iv ii i ii 1 iv il iv 1 ii iiiv ii i
40 | Identify the statements that are true and false for Language and | Answer option

Linguistics.




A. A linguist speak many languages
B. Language is complex and multifaceted phenomenon.
C. Some languages/dialects are more complex and better than

other languages.

D. Sign languages are not complete language.

a) A and B are [ b)A,Cand |c)A,B,Cand|d) A, B, C|b
true and Cand D | D are False | D are all true. | are false and
are false. and B is D is true.
true.
41 | A: Assertion: Oral literatures are in decline as a result of cultural | Answer option
focus on literacy.
B: Justification: The advance on literacy undermined the
relevance and honour of traditional story tellers.
a) A is True but | b) A and B | c)Ais falsebut | d) Both A|b
B is false both are True | B is true and B are
false
42 | The book she saw on the catalogue is available down the street. | Answer option
Identify the underlined phrase or clause
a)prepositional | b)participle | c)gerund d)infinitive | a
phrase phrase phrase phrase
43 | His chance to make a point slipped away. Identify the underlined | Answer option
phrase or clause
a) prepositional | b) participle | ¢) gerund | d) infinitive | d
phrase phrase phrase phrase
44 | Match the following correctly. Answer option
A. Poong I. Kalbelia
B. Gaur ii. Monpa
C. Bardo-cham iii. Khampti
D. Sapera 1iv. Bison Horn Maria
CODES
a) b) c) d) b
ABCD ABCD ABCD ABCD
il iiiiv i iv il i iiiiv ii 1 i il iv
45 | Which of the following are correct with regards to Buddhist | Answer option
Sangha?
A. The monks were organized into sangha for purpose of
spreading his teachings.
B. There was no separate code for nuns in the sangha.
C. The membership was open to all persons, male and female
without any restrictions.
D. The Sangha was governed on democratic lines and was
empowered to enforce discipline among its members.
a)A,BandCare | b)B,Cand |c)A, Cand D |d) all are|c
true D are true are true true.
46 | A: Assertion: Meanings of messages used in classroom are | Answer option

arbitrary in nature.




B: Justification: Meanings are learnt as a result of one’s prior
experiences.

a) A and B are | b) A is true | c) A and B are | d)A is false
both true but B is false | both false and Bistrue | a
47 | Where is Tat Tok Festival Celebrated in India? Answer option
a)Nagaland b)Tripura c¢) Ladakh d) Mizoram | ¢
48 | Which of the following security force is deployed on Sino Indian | Answer option
border?
a)Central b)  Border | ¢c)Indo Tibetan | d)Seema c
Reserve Police | Security Border Police ( | Suraksha
Force (CRPF) Force (BSF) | ITBP) Bal (SSB)
49 | Match the following: Answer option
LISTI LIST I
A. Interjections 1. on,at,in,from,under
B. Reflexive pronouns ii. whoops!, Bam!, Alas!
C. Conjunction iii. oneself, themselves, ourselves
D. Prepositions iv. and, since,or
a) b) c) d) b
ABCD ABCD ABC.D ABCD
il i 1v il iii iv i iv. il iv i i il iv
50 | Which of the following are True or False statements regarding | Answer option
Saussure’s theory of Langue (Language) and Parole (Speech)?
A. Langue is the abstract language system, the grammar of a
language.
B. Parole is the language actually produced by its user following
langue.
C. Langue is the language actually produced by its users
following parole.
D. Parole is the abstract language system, the grammar of a
system.
a) b) c) d) b
Aand C are true | Aand Bare | B and C are
and B and D are | true and C true and A and | B and D are
false. and D are D are false. true and A
False. and C are
false.
51 | A: Assertion- Some post-colonial writers maintain that being | Answer option

‘unhomed’ is not the same as being ‘homeless’.

B: Justification-Because the migrants are not at home in
themselves: their cultural identity crisis has made them
psychological refugees.

a)Aistruebut B | b)A and B | c)Ais false but | d)Both A
1s false are True B is true and B are
false




52 | ‘Bhand Pather’ is theatre form of which State/UT? Answer option
a)Jammu  and | b) Himachal | ¢) Dadra and | d) a
Kashmir Pradesh Nagar Haveli | Maharashtr

a

53 | Who is regarded as the “Father of All-India Services?”

a) Lord b) Lord c) B.R. d) Sardar d
Macaulay Cornwallis Ambedkar Patel

54 | The word ‘Budget’ is mentioned in which of the following
articles of the constitution of India:

a) Article 266 b) Article c)Article 265 d)None d
112

55

State which is true or false for democratic form of government:

A It is a legitimate government

B. People do not find representation in democratic

government

C. It is people’s own government

D. A singular person holds all the power

a) A& C are b) B&Care |c)D &A are d)B&D are | a
true true true true

56 | Assertion (A):The Rajya Sabha has less powers in financial
matters.

Justification(B):The Lok Sabha alone votes the demands

for grants

a) BothAand B | b)Ais c)Ais d) Both A a
is correct, and B | correct but B | incorrect but B | and B is
explains A. is incorrect | is correct incorrect

57 | Match the following
A. Mandamus i. ‘By what warrant or authority’

B Habeas Corpus |ii. We command
C. Quo warranto iii. To be Certified
D Certiorari iv. “You may have the body’ or to
have the body of’
a) A-i, B-iv, C- | b) A-iv, B-i, | ¢) A-iv, B-ii, d)A-ii, B- |d
i1, D-iii C-iii, D-ii C-i, D-iii iv, C-i, D-iii

58 | Right to vote and to be elected in India is a
a) Fundamental | b) Natural c) d) Legal d
Right Right Constitutional | Right

Right

59 | Which of the following statements are True or False:

A Emotional competence refers to discrimination of

behavior

B. Emotional competency refers to set of personal and

social skills acquired to response to emotions

C. Emotional competency does not include empathy and

self regulation

D. Emotional competency include self awareness and
motivation

a) B&D are | b) A& Care | ¢)B &D are dA&B a
true true false are false

60 | The notion of is based on Bandura’s social learning
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theory

a)Self-Esteem b)Self- c)Self- d)Self-
Efficacy regulation Cognition
61 | Assertion (A): Aptitude refers to an individual’s underlying
potential for acquiring skills.
Justification (B): Aptitude test is used to predict what an
individual will be able to do if given proper environment and
training.
a) BothAand B | b) Both A c)Ais d) Both A
1s correct, and B | and B is incorrect but B | and B is
explains A correct, but | is correct incorrect
B do not
explain A
62 | Match the following:
A. Hallucinogens |i. Heroin
B. Opioid ii. Mescaline
C. Cannabis iii.Spray Paints
D. Inhalants iv. Marijuana
a) A-i, B-iv, C- | b) A-iv, B-i, | ¢) A-iv, B-ii, d) A-ii, B-i,
i1, D-iii C-iii, D-ii C-i, D-iii C-iv, D-iii
63 | ODD stands for:
a) Oppressed b) c¢) Obesity d) Opposed
Defiant Disorder | Oppositional | Deficit Defiant
Defiant Disorder Disorder
Disorder
64 | All the challenges, problems, and difficult circumstances put the
individual in
a) Eustress ‘ b) Anxiety ‘ c) Stress ‘ d) Phobia
65 | Which of the following is not a method of social work?
a) Social Action | b) ¢) Community | d) Social
Community | Development | Action
Organisation
66 | Which of the following is correct for principles of “Social
Group Work™?
1. Continuous Individualization
2. Specific Objectives
3. Controlled Emotional Involvement
4. Guided Group Interaction
a) Only l is true | b)Only 1 and | ¢) Only 1, 2, d) All are
2 is true and 4 is true true
67 | Match the following:
A Sympathy 1. positive hope for future
B Empathy i1. Feeling for the concern
C Assertive 1ii. Keeping yourself in others
shoes
D Optimistic iv. Confident behavior
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a) A-i, B-iv, C- | b) A-iv, B-i, | ¢) A-iv, B-ii, d)A-ii, B- | d
i1, D-iii C-iii, D-ii C-i, D-iii iii, C-iv, D-i
68 | As per whom “Social Casework is the art of adjusting personal
relationship”?
a) Taylor b) Lee ¢) Queen d) Sigmund | ¢
Freud
69 | Which of the following statements are true or false?
A Society is an exchange of gestures which involves the
use of symbols-G.H. Mead
B. Society is the web of relationship- Maclver
C. Any real society is an ideal construction of folk- Robert
Redfield
D. Society is the web of relationship- Herbert Spencer
a)A,Baretrue |b)A,Bare ¢)A.Band C d)A,B,C c
and C, D are false and C, | are True and D | are false
false D are ture is false and D is
true
70 | The river that cuts twice the tropic of cancer is
a) Mahi b) ¢) Son d) Damodar | a
Brahamputra
71 | Which of the following soil can be best used for making bricks?
a) Saline ‘ b) Laterite ‘ c) Red ‘ d) Organic | c
72 | State which of the following statements are True or False for
Time Zone in India,
A. Indian Standard Time (IST) is five and half hours behind
GMT
B. Indian Standard Time (IST) is based on 82.5%degree
Longitude
C. Indian Standard Time (IST) is five and half hours ahead
GMT
D. Indian Standard Time (IST) is six hours ahead GMT
a) A,Care |b)A,Care c)A,Baretrue | d)A,Bare |c
true and D,B are | false and B, | and C, D are false and C,
false D are true false D are true
73 | The famous bronze sculpture of ‘Nataraj’ was found during the | Answer option
time period of dynasty
a) Pallava | b)Gupta | ¢) Chola | d) Maurya | (c)
74 | The Four Lion Capital on our National Emblem derived from
the Ashoka Capital is located at
a) Rampurva ‘ b) Sanchi ‘ ¢) Sarnath ‘ d) Lumbini | (c)
75 | Which of the following features define ‘Tribe’ as an ideal
construct?
A. Economic specialization
B. Egalitarianism
C. Integrated character
D. Class formation
a) A and B are b) Band C ¢c)A,BandC |d)B,Cand | Answer
correct. are correct. are correct. D are (d)
correct.
76 | Given below are two statements, one is labelled as Assertion (A)
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and the other is labelled as Reason (R). Answeroption(a,b,
Assertion (A): Variability is inherent in all populations. cord)
Reason (B): The human species is polymorphic, and natural
selection can be seen.
In the context of the above two statements which one of the
following is correct?
a) (A) is correct, | b) Both (A) |c¢)(A)is d) Both (A) | Answer
but (B) is wrong | and (B) are | wrong, but (B) | and (B) are | (b)
correct 1S correct wrong
77 | Match the following:
A. Village Kishangarhi in U.P (1) F.G. Bailey Answer
B. Village Bisipara in Orissa (i1) Mckim Marriott option(a,b,c or d)
C. Village Shamirpet in (ii1) M.N. Srinivas
Andhra Pradesh
D. Village Rampura in (iv) S.C. Dube
Karnataka
a) A(ii) b) A(ii) c) A() d) A(iv) | Answer
B(@i) C(iv) B(i) C(ii) | B(ii) C(ii) B(iii) C(ii)
D(iii) D(iv) D(iv) D(i) (a)
78 | Identify the correct sequence of the development of following Answeroption(a,b,
anthropological concepts/theories in ascending order: cord)
a) Culture area | b) Culture ¢) Cultural d) Modal Answer
approach -> area materialism -> | personality | (b)
Modal approach -> | Modal -> Cultural
personality -> Neo- personality -> | materialism
Neo- evolutionism | Neo- -> Neo-
evolutionism -> | -> Modal evolutionism - | evolutionis
Cultural personality - | > Culture area | m ->
materialism > Cultural approach Culture area
materialism approach
79 | Which of the following traits continued from Indus Valley
civilization into later cultures in India?
A. Weights and measures Answeroption(a,b,
B. Religious ideas cord)
C. Pottery making techniques
D. Iron technology
a) A,Band | b) B,C |c) BDandA |d) A,D and | Answer
C are correct and D are are correct C are (a)
correct correct
80 | Who are your Cross-Cousins? Answeroption(a,b,
cord)
a) Your mother’s | b) ) The ¢) Your d) The Answer
cousin’s children of father’s children of | (d)
children your cousin’s your
mother’s children father’s
sister or / sister or /
and your and
father’s mother’s
brother brother
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81 | The VI Schedule of the Indian Constitution is applicable to the Answeroption
areas in the following States: (a,b,cord)
A. Assam
B. Meghalaya
C. Tripura
D. Jharkhand
a)D,C&Bare [b)A,B&C |¢)B,C&D d)A, C & D | Answer
true are true are true are true (b)
82 | Which of the following statements is NOT CORRECTLY Answeroption(a,b,
match? cord)
a) M.N. b) Mc Kim c) L.P. d) Oscar Answer
Srinivas: Marriot: Vidyarthi: Lewis: (c)
Dominant Caste | Universaliza | National Culture of
tion and Culture Poverty
Parochializat
ion
83 | Given below are two statements. One is labelled as Assertion
(A) and the other is labelled as Reason (R): Answeroption(a,b,
Assertion (A): Anthropologists distinguish between the ‘family | cord)
of orientation’ (formed when one marries and has children) and
‘family of procreation’ (the family in which one is born and
grows up).
Reason (B): From individual’s point of view, the critical
relationships are with spouse and children in the family of
orientation and with parents and siblings in the family of
procreation.
Based on the above statement choose the correct answer code:
a) Both (A)and | b) (A)is ¢) (A) is wrong | d) Both (A) | Answer
(B) are correct correctand | and (B) is and (B) are | (d)
(B) is wrong | correct wrong
84 | Match List I with the List IT
A. First garden-tomb in India | i. The Humayun’s tomb Answeroption(a,b,
B. Sasaram ii. Tomb of Sher Shah Suri cord)
C. Capital of Imperial Cholas | iii. Tanjavur
D. Vittala swami temple In iv. Devaraya I1
Hampi
a) A-iii,B-i, C-ii, | b) A-1,B-ii, ¢) A-i, B-iv, C- | d) A-ii, B-i, | Answer
D-iv C-iii, D-iv i1, D-iii C-iv, D-iii | (b)
85 | Match the following symbols in List I associated with Buddhism
with symbolizing in list II
A. Horse 1. Enlightenment of Buddha
B. Bodhi Tree i1. The first sermon of Buddha
C. Wheel ii1. Buddha leaving his home
D. Lotus and Bull iv. Birth of Buddha
a) A(iii), B(i), b) A(i), c) A(i), B(iii), | d) A(ii), Answer
C-(ii), D(@iv) B(iii), C(ii), | C(iv), D(ii) B(1), C(iii), | (a)
D(iv) D(iv)
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86 | Consider the following events and state the CORRECT
chronological order:
A. Formation of Swaraj Party
B. Second round Table conference
C. Arrival of Simon Commission
D. Gandhi-Irwin Pact
(a)A,B,C,D (b) A, C, (©)A,B,D,C | (d)A,D,C, | Answer
B,.D B (c)
87 | The inheritance rule that makes the eldest child (usually the
eldest son) the only heir.
a) Primogeniture | b) c) d) None of | Answer
Ultimogenit | Equigeniture the above (a)
ure
88 | Aesthetic values haveto dowith
a) the moral b) good and | ¢) the moral d) Answer
value of works | bad works of | values of pragmatic (b)
of art and other | art and other | artists and decisions
objects that objects that | critics regarding
could be judged | could be the display
beautiful judged of art
beautiful
89 | Pham-Kho-Sowai (a harvesting festival) is a popular festival of
the
a) Tai-Khampti | b) ¢) Nocte tribe | d) Singpho | Answer
tribe Bugun tribe tribe (b)
90 | Assertion (A): Sustainable development is critical to well being
of human society.
Reason (B): Environmentally sound policies do not harm the
environment or deplete the natural resources.
Choose the correct code:
a) Both (A)and | b) Both (A) | c)(A)is true d) (A)is Answer
(B) are correct and (B)are | and (B)is false and (b)
and (B) is the correct, but | false. (B) is true.
correct (B) is not the
explanation of correct
(A). explanation
of (A).
91 | Eravallan, Irular, Kadar, Kochu Velan, Koraga, are tribes found
in the state of
a) Tamil Nadu b) Kerala c¢) Karnataka d) Answer
Jharkhand | (a)
92 | Assertion (A): The purpose of higher education is to promote
critical and creative thinking abilities among students.
Reason (B): These abilities ensure job placements.
Choose the correct answer from the following code:
a) Both (A)and | b) Both (A) | c)(A)is true d)(A)is Answer
(B) are true and | and (B) are | but (B) is false | false but
(B) is the correct | true but (B) (B) is true (b)
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explanation of

is not the

(A) correct
explanation
of (A)
93 | An important formal characteristic of art is
a) social b) faithful c¢) its power to | d) (d)
meaning representatio | evoke strong coherence
n emotions
94 | Which one of the following best describes the custom by which
a widower marries the sisters of the deceased wife?
a) Sororate b) Levirate c¢) Polygyny d) Plural Answer
marriage (a)
95 | Bengal Gazette, the first Newspaper in India was started in 1780
by
a) Dr. Annie b) James ¢) Lord d) A.O. Answer
Besant Augustus Cripson Hume (b)
Hicky
96 | Following are tribes found in Andaman and Nicobar Islands,
EXCEPT
a) Onges b) Shom c¢) Sentinelese | d) Bagata Answer
Pens (d)
97 | In which of the following styles of dance the story/ theme is
always taken from Mahabharata and Ramayana?
a) b) ¢) Odissi d) Answer
Bharatanatyam | Mohiniattam Kuchipudi | (a)
98 | The paintings in the Ajanta and Ellora caves are indicative of the
development of art under the
a) Pallavas b) Chalukyas | c) Pandyas d) Answer
Rashtrakuta | (b)
S
99 | Pattachitra paintings are associated with which states?
a) Bihar & b) Odisha & | ¢) Madhya d) Answer
Jharkhand West Bengal | Pradesh & Karnataka (b)
Rajasthan & Kerala
10 | Subika paintings are linked to which community’s cultural
0 | history?
a) Bhils b) Gonds c¢) Meitei d) Chiru Answer
(c)
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